1 Name of Procuring agency

2 Tender reference No.

3 Tender Description /Name of Work/Item

4 Method Procurement

5 Tender Published

6 Total Bid Document

7 Total Bid received

8 Technical Bid Opening date (If applicable)

 No. of Bid Technically qualified (If applicable)

10 Bid(s) rejected (If applicable)

11 Financial Bid Opening date

Rice Canal Division Mehar @ KN Shah

N.I.T No. SKP/G-66/472 dated 06-07-2017.

Procurement of Goods/Hiring Machinery/Abkalani Material along Dhamrao Branch RD 315 to 340 in Dhamrao Sub-Division of Rice Canal Division Mehar @ KN Shah (P-01)

Single stage-single Envolope Procurement

SPPRA Website 2016 No.3387 4 dated 10.07.2017

i) Daily Jung dated 13-07-2017

ii) Daily Express Tribune dated 11-07-2017

iii) Daily Awami Awaz dated 13-07-2017

03 Nos.

03 Nos.

Not Applicable

Not Applicable

-Nil-

10-08-2017

S. No.	Name of Firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated Cost	Reasons for acceptance /rejection	Remarks
1	Ali Gohar Mirani	1300000.00	Lowest	Estimate Rate	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
2.	Manthar Ali	13-12900.00	Highest	3.3% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
3.	Ameer Ali Abro	1354780.00	Highest	4.21% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work

Signature of the Chairman members of the Committee

(TARIQUE DESTIN ABRO) Executive Ingineer

Rice Canal Division Mehar a KN Shah (BARKAT ALI KHUWAJA)

Executive Engineer
Public Health Engineering Division
Larkana

(FAYYAZ INUSSATY QURESHI)

Divisional Counts Officer
Rice Canal Division Mehar
(a. KN Stlah

1 Name of Procuring agency

2 Tender reference No.

3 Tender Description /Name of Work/Item

Method Procurement 4

5 Tender Published

**Total Bid Document** 6

7 Total Bid received

Technical Bid Opening date 8 (If applicable)

9 No. of Bid Technically qualified (If applicable)

10 Bid(s) rejected (If applicable)

Financial Bid Opening date 11

Rice Canal Division Mehar @ KN Shah

N.I.T No. SKP/G-66/ 472 dated 06-07-2017.

Procurement of Goods/Hiring Machinery/Abkalani Material along Rice Canal RD 340 to 365 in Dhamrao Sub-Division of Rice Canal Division Mehar @ KN Shah (P-02)

Single stage-single Envolope Procurement

SPPRA Website 2016 No.3387 4 dated 10.07.2017

i) Daily Jung dated 13-07-2017

ii) Daily Express Tribune dated 11-07-2017

iii) Daily Awami Awaz dated 13-07-2017

03 Nos.

03 Nos.

Not Applicable

Not Applicable

-Nil-

10-08-2017

S. No.	Name of Firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated Cost	Reasons for acceptance /rejection	Remarks
1	Gulzar Junejo Constt:	1300000.00	Lowest	Estimate Rate	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
2.	Ameer Ali Abro	1315240.00	Highest	1.17% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
3.	Allah Dino Tunio	1348360.00	Highest	3.72% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work

Signature of the Chairman/members of the Committee

Rice Canal Division Mehar (a) KN Shah

(BARKAT ALI KHUWAJA)

Executive Engineer Public Health Engineering Division Larkana

(TAYLAZ IH SSAIN OURESHI)

Divisional Accounts Officer Rice Canal Division Mehar

(a) KA Shah

Name of Procuring agency

2 Tender reference No.

3 Tender Description /Name of Work/Item

Method Procurement 4

Tender Published 5

**Total Bid Document** 6

7 Total Bid received

**Technical Bid Opening date** 8 (If applicable)

9 No. of Bid Technically qualified (If applicable)

Bid(s) rejected 10 (If applicable)

11 Financial Bid Opening date Rice Canal Division Mehar @ KN Shah

N.I.T No. SKP/G-66/ 472 dated 06-07-2017.

Procurement of Goods/Hiring Machinery/Abkalani Material along Dhamrao Branch RD 365 to 390 in Dhamrao Sub-Division of Rice Canal Division Mehar @ KN Shah (P-03)

Single stage-single Envolope Procurement

SPPRA Website 2016 No.3387 4 dated 10.07.2017

i) Daily Jung dated 13-07-2017

ii) Daily Express Tribune dated 11-07-2017

iii) Daily Awami Awaz dated 13-07-2017

03 Nos.

03 Nos.

Not Applicable

Not Applicable

-Nil-

10-08-2017

S. No.	Name of Firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated Cost	Reasons for acceptance /rejection	Remarks
1	Al-Mueed Engineering Constt:	1300,000.00	Lowest	Estimate Rate	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
2.	Ameer Ali Abro	1332025.00	Highest	2.46% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
3.	Gulzar Junejo Constt:	1352055.00	Highest	4.0% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work

Signature of the Chairman/members of the Committee

SSAIN ABRO (TARION Executive Engineer

Rice Canal Division Mehar (a) KN Shah

(BARKAT ALI KHUWAJA)

Executive Engineer Public Health Engineering Division Larkana

(FAYYAZ HESSAIN OURESHI)

Divisional Acums Officer Rice Canal Division Mehar

(a. KN Shah

1 Name of Procuring agency

2 Tender reference No.

3 Tender Description /Name of Work/Item

4 Method Procurement

5 Tender Published

6 Total Bid Document

7 Total Bid received

8 Technical Bid Opening date (If applicable)

 No. of Bid Technically qualified (If applicable)

10 Bid(s) rejected (If applicable)

11 Financial Bid Opening date

Rice Canal Division Mehar @ KN Shah

N.I.T No. SKP/G-66/ 472 dated 06-07-2017.

Procurement of Goods/Hiring Machinery/Abkalani Material along Mehar Branch RD 390 to 408 in Mehar Sub-Division of Rice Canal Division Mehar @ KN Shah (P-04)

Single stage-single Envolope Procurement

SPPRA Website 2016 No.3387,4 dated 10.07.2017

i) Daily Jung dated 13-07-2017

ii) Daily Express Tribune dated 11-07-2017

iii) Daily Awami Awaz dated 13-07-2017

03 Nos.

03 Nos.

Not Applicable

Not Applicable

-Nil-

10-08-2017

S. No.	Name of Firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated Cost	Reasons for acceptance /rejection	Remarks
1	Ashique Ali Junejo	1,300,000.00	Lowest	Estimate Rate	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
2.	Al-Mueed Engineering Constt:	1381100.00	Highest	6.23% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
3.	Gulzar Junjeo Constt:	1406450.00	Highest	8.18% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work

Signature of the Chairman/members of the Committee

(TARIQUE THE SAIN ABRO)

Executive Engineer

Rice Canal Division Mehar

(a) KN Shah

(BARMAT ALI KHUWAJA)

Executive Engineer
Public Health Engineering Division
Larkana

(FAYYAZ HUSSAIN OUKESHI)

Divisional Agramis Officer
Rice Canal Division Mehar
(a) KN Shah

# 4

#### **BID EVALUATION REPORT**

1 Name of Procuring agency

2 Tender reference No.

3 Tender Description /Name of Work/Item

4 Method Procurement

5 Tender Published

6 Total Bid Document

7 Total Bid received

8 Technical Bid Opening date (If applicable)

 No. of Bid Technically qualified (If applicable)

10 Bid(s) rejected (If applicable)

11 Financial Bid Opening date

Rice Canal Division Mehar @ KN Shah

N.I.T No. SKP/G-66/ 472 dated 06-07-2017.

Procurement of Goods/Hiring Machinery/Abkalani Material along Dhamrao Branch RD 0 to 40 in Dhamrao Sub-Division of Rice Canal Division Mehar @ KN Shah (P-05)

Single stage-single Envolope Procurement

# SPPRA Website 2016 No.3387 4 dated 10.07.2017

i) Daily Jung dated 13-07-2017

ii) Daily Express Tribune dated 11-07-2017

iii) Daily Awami Awaz dated 13-07-2017 03 Nos.

03 Nos.

Not Applicable

Not Applicable

-Nil-

10-08-2017

S. No.	Name of Firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated Cost	Reasons for acceptance /rejection	Remarks
1	Allah Dino Tunio	3,009000.00	Lowest	Estimate Rate	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
2.	Safdar Ali Junejo	3138100.00	Highest	4.60% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
3.	Ashique Ali Junejo	3197870.00	Highest	6.59% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work

Signature of the Chairman/members of the Committee

(TARIQUE A) SAIN ABRO)

Executive Angineer

Rice Canal Division Mehar

@ KN Shah

(BARKAT ALI KHUWAJA)

Executive Engineer
Public Health Engineering Division
Larkana

(FAYYAZ HUSSAIN QURESHI)

Divisional Johnnis Officer Rice Canal Division Mehar (a. KN Shah

1 Name of Procuring agency

2 Tender reference No.

3 Tender Description /Name of Work/Item

4 Method Procurement

5 Tender Published

6 Total Bid Document

7 Total Bid received

8 Technical Bid Opening date (If applicable)

 No. of Bid Technically qualified (If applicable)

10 Bid(s) rejected (If applicable)

11 Financial Bid Opening date

Rice Canal Division Mehar @ KN Shah

N.I.T No. SKP/G-66/472 dated 06-07-2017.

Procurement of Goods/Hiring Machinery/Abkalani Material along Dhamrao Branch RD 40 to 80 in Dhamrao Sub-Division of Rice Canal Division Mehar @ KN Shah (P-06)

Single stage-single Envolope Procurement

SPPRA Website 2016 No.3387 4 dated 10.07.2017

i) Daily Jung dated 13-07-2017

ii) Daily Express Tribune dated 11-07-2017

iii) Daily Awami Awaz dated 13-07-2017 03 Nos.

03 Nos.

Not Applicable

Not Applicable

-Nil-

10-08-2017

S. No.	Name of Firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated Cost	Reasons for acceptance /rejection	Remarks
1	Sarwar Sons & Co.	3000,000.00	Lowest	Estimate Rate	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
2.	Gulzar Junejo Constt:	3110450.00	Highest	3.68% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
3.	Allah Dino Tunio	3156770.00	Highest	5.22% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work

Signature of the Chairman/members of the Committee

(TARIQUE (TASAIN ABRO) Executive Engineer Rice Canal Devision Mehar

@ KN Shah

(BARKAT ALI KHUWAJA)

Executive Engineer
Public Health Engineering Division
Larkana

(FAYYAZ HUSSHIN OURESHI)

Divisional Lauris Officer Rice Caust Division Mehar

(a KN Shah

1 Name of Procuring agency

2 Tender reference No.

3 Tender Description /Name of Work/Item

4 Method Procurement

5 Tender Published

6 **Total Bid Document** 

Total Bid received 7

8 Technical Bid Opening date (If applicable)

9 No. of Bid Technically qualified (If applicable)

10 Bid(s) rejected (If applicable)

11 Financial Bid Opening date Rice Canal Division Mehar @ KN Shah

N.I.T No. SKP/G-66/ 472 dated 06-07-2017.

Procurement of Goods/Hiring Machinery/Abkalani Material along Dhamrao Branch RD 80 to 110 in Dhamrao Sub-Division of Rice Canal Division Mehar @ KN Shah (P-07)

Single stage-single Envolope Procurement

SPPRA Website 2016 No.3387 4 dated 10.07.2017

i) Daily Jung dated 13-07-2017

ii) Daily Express Tribune dated 11-07-2017

iii) Daily Awami Awaz dated 13-07-2017

03 Nos.

03 Nos.

Not Applicable

Not Applicable

-Nil-

10-08-2017

S. No.	Name of Firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated Cost	Reasons for acceptance /rejection	Remarks
1	Safdar Ali Junejo	1200000.00	Lowest	Estimate Rate	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
2.	Ameer Ali Abro	1222175.00	Highest	1.84% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
3.	Al-Mueed Engineering Constt:	1263205.00	Highest	5.26% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work

Signature of the Chairman/members of the Committee

(TARIOUS SSAIN ABRO) Executive Engineer Rice Canal Division Mehar

@ KN Shah

BARKAT ALI KHUWAJA)

Executive Engineer Public Health Engineering Division Larkana

(FAYYAZ HUSSANN QURESHI)

Divisional Accounts Officer Rice Canal Division Mehar

(a) KN Shah

# 1

#### **BID EVALUATION REPORT**

1 Name of Procuring agency

2 Tender reference No.

3 Tender Description /Name of Work/Item

4 Method Procurement

5 Tender Published

6 Total Bid Document

7 Total Bid received

8 Technical Bid Opening date (If applicable)

 No. of Bid Technically qualified (If applicable)

10 Bid(s) rejected (If applicable)

11 Financial Bid Opening date

Rice Canal Division Mehar @ KN Shah

N.I.T No. SKP/G-66/472 dated 06-07-2017.

Procurement of Goods/Hiring Machinery/Abkalani Material along Mehar Branch RD 0 to 40 in Mehar Sub-Division of Rice Canal Division Mehar @ KN Shah (P-08)

Single stage-single Envolope Procurement

SPPRA Website 2016 No.3387 4 dated 10.07.2017

i) Daily Jung dated 13-07-2017

ii) Daily Express Tribune dated 11-07-2017

iii) Daily Awami Awaz dated 13-07-2017

03 Nos.

03 Nos.

Not Applicable

Not Applicable

-Nil-

10-08-2017

S. No.	Name of Firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated Cost	Reasons for acceptance /rejection	Remarks
1	Gulzar Junjeo Constt:	3000000.00	Lowest	Estimate Rate	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
2.	Ali Gohar Mirani	3084920.00	Highest	2.83% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
3.	Sarwar Sons & Co.	3178000.00	Highest	5.93% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work

Signature of the Chairman/members of the Committee

Executive Engineer
Rice Canal Division Mehar

William Shah

(BARKAT ALI KHUWAJA)

Executive Engineer

Public Health Engineering Division

Larkana

Divisional Advants Officer

Rice Canal Division Mehar a KN Shah

# 1

#### **BID EVALUATION REPORT**

1 Name of Procuring agency

2 Tender reference No.

3 Tender Description /Name of Work/Item

4 Method Procurement

5 Tender Published

6 Total Bid Document

7 Total Bid received

8 Technical Bid Opening date (If applicable)

9 No. of Bid Technically qualified (If applicable)

10 Bid(s) rejected (If applicable)

11 Financial Bid Opening date

Rice Canal Division Mehar @ KN Shah

N.I.T No. SKP/G-66/472 dated 06-07-2017.

Procurement of Goods/Hiring Machinery/Abkalani Material along Mehar Branch RD 40 to 60 in Mehar Sub-Division of Rice Canal Division Mehar @ KN Shah (P-09)

Single stage-single Envolope Procurement

SPPRA Website 2016 No.3387 4 dated 10.07.2017

i) Daily Jung dated 13-07-2017

ii) Daily Express Tribune dated 11-07-2017

iii) Daily Awami Awaz dated 13-07-2017

03 Nos.

03 Nos.

Not Applicable

Not Applicable

-Nil-

10-08-2017

S. No.	Name of Firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated Cost	Reasons for acceptance /rejection	Remarks
1	Ghulam Shabir:	1,500,000.00	Lowest	Estimate Rate	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
2.	Manthar Ali	1606930.00	Highest	7.12% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
3.	Allah Dino Tunio	1633500.00	Highest	8.9% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work

Signature of the Chairman/members of the Committee

(TARIQ (COSSAIN ABRO)

Executive Engineer

Rice Canal Division Mehar

@ KN Shah

(BARAT ALI KHUWAJA)

Executive Engineer

Public Health Engineering Division

Larkana

(FAYYAZ HUSSAIN QURESHI)

Divisional Mecounts Officer Rice Canal Division Mehar (a. KN Shah

1 Name of Procuring agency

2 Tender reference No.

1

3 Tender Description /Name of Work/Item

4 Method Procurement

5 **Tender Published** 

6 **Total Bid Document** 

7 Total Bid received

Technical Bid Opening date 8 (If applicable)

9 No. of Bid Technically qualified (If applicable)

10 Bid(s) rejected (If applicable)

Financial Bid Opening date 11

Rice Canal Division Mehar @ KN Shah

N.I.T No. SKP/G-66/ 472 dated 06-07-2017.

Procurement of Goods/Hiring Machinery/Abkalani Material along Mehar Branch RD 60 to 107 in Mehar Sub-Division of Rice Canal Division Mehar @ KN Shah (P-10)

Single stage-single Envolope Procurement

SPPRA Website 2016 No.3387 4 dated 10.07,2017

i) Daily Jung dated 13-07-2017

ii) Daily Express Tribune dated 11-07-2017

iii) Daily Awami Awaz dated 13-07-2017

03 Nos.

03 Nos.

Not Applicable

Not Applicable

-Nil-

10-08-2017

S. No.	Name of Firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated Cost	Reasons for acceptance /rejection	Remarks
1	Allah Dino Tunio	2700000.00	Lowest	Estimate Rate	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
2.	Safdar Ali Junejo	2731600.00	Highest	1.17% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
3.	Ali Gohar Mirani	2775010.00	Highest	2.77% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work

Signature of the Chairman/members of the Committee

(TARIQUE A STATN ABRO) Executive Engineer

Rice Canal Division Mehar @ KN Shah

(BARKAT ALI KHUWAJA)

Executive Engineer Public Health Engineering Division Larkana

(FAYYAZ HUSS IN OURESHI)

Divisional Actions Officer
Rice Canal Design Mehar

(a KN Shah

1 Name of Procuring agency

2 Tender reference No.

3 Tender Description /Name of Work/Item

4 Method Procurement

5 Tender Published

6 Total Bid Document

7 Total Bid received

8 Technical Bid Opening date (If applicable)

 No. of Bid Technically qualified (If applicable)

10 Bid(s) rejected (If applicable)

11 Financial Bid Opening date

Rice Canal Division Mehar @ KN Shah

N.I.T No. SKP/G-66/472 dated 06-07-2017.

Procurement of Goods/Hiring Machinery/Abkalani Material along FP Bund RD 220 to 285 in Mehar Sub-Division of Rice Canal Division Mehar @ KN Shah (P-11)

Single stage-single Envolope Procurement

SPPRA Website 2016 No.3387 4 dated 10.07.2017

i) Daily Jung dated 13-07-2017

ii) Daily Express Tribune dated 11-07-2017

iii) Daily Awami Awaz dated 13-07-2017

03 Nos.

03 Nos.

Not Applicable

Not Applicable

-Nil-

10-08-2017

S. No.	Name of Firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated Cost	Reasons for acceptance /rejection	Remarks
1	Gulzar Junejo Constt:	3000000.00	Lowest	Estimate Rate	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
2.	Safdar Ali Junejo	3038140.00	Highest	1.27% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
3.	Allah Dino Tunio	3080180.00	Highest	2.67% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work

Signature of the Chairman/members of the Committee

(TARIQUE HUNGELIN ABRO)
Executive Engineer
Rice Canal Division Mehar
(a) KN Shah

(BAPKAT ALI KHUWAJA)

Executive Engineer

Public Health Engineering Division

Larkana

Divisional Legounts Officer

Rice Canal Dission Mehar

a RN Shah

1 Name of Procuring agency

2 Tender reference No.

1

**Tender Description /Name** 3 of Work/Item

Method Procurement 4

5 Tender Published

**Total Bid Document** 6

7 Total Bid received

**Technical Bid Opening date** 8 (If applicable)

No. of Bid Technically qualified 9 (If applicable)

Bid(s) rejected 10 (If applicable)

Financial Bid Opening date 11

Rice Canal Division Mehar @ KN Shah

N.I.T No. SKP/G-66/ 472 dated 06-07-2017.

Procurement of Goods/Hiring Machinery/Abkalani Material along FP Bund RD 285 to 315 in Dhamrao Sub-Division of Rice Canal Division Mehar @ KN Shah (P-12)

Single stage-single Envolope Procurement

SPPRA Website 2016 No.3387 4 dated 10.07.2017

i) Daily Jung dated 13-07-2017

ii) Daily Express Tribune dated 11-07-2017

iii) Daily Awami Awaz dated 13-07-2017

03 Nos.

03 Nos.

Not Applicable

Not Applicable

-Nil-

10-08-2017

S. No.	Name of Firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated Cost	Reasons for acceptance /rejection	Remarks
1	Ameer Ali Abro	1800,000.00	Lowest	Estimate Rate	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
2.	Ashique Ali Junejo	1856450.00	Highest	3.13% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
3.	Ali Gohar Mirani	1890640.00	Highest	5.0% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work

Signature of the Chairman/members of the Committee

SSAIN ABRO) Executive Ingineer Rice Canal Division Mehar @ KN Shah

TBARNAT ALI KHUWAJA) Executive Engineer Public Health Engineering Division

Larkana

(FAYYAZ HILS HIN OT RESHI Divisional Actionnis Officer

Rice Canal Desison Victor

a KN Shah

Name of Procuring agency 1

2 Tender reference No.

Tender Description /Name 3 of Work/Item

Method Procurement 4

Tender Published 5

**Total Bid Document** 6

Total Bid received 7

Technical Bid Opening date (If applicable)

9 No. of Bid Technically qualified (If applicable)

10 Bid(s) rejected (If applicable)

Financial Bid Opening date 11

Rice Canal Division Mehar @ KN Shah

N.I.T No. SKP/G-66/ 472 dated 06-07-2017.

Procurement of Goods/Hiring Machinery/Abkalani Material along FP Bund RD 315 to 346 in Dhamrao Sub-Division of Rice Canal Division Mehar @ KN Shah (P-13)

Single stage-single Envolope Procurement

SPPRA Website 2016 No.3387 4 dated 10.07.2017

i) Daily Jung dated 13-07-2017

ii) Daily Express Tribune dated 11-07-2017

iii) Daily Awami Awaz dated 13-07-2017

03 Nos.

03 Nos.

Not Applicable

Not Applicable

-Nil-

10-08-2017

S. No.	Name of Firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated Cost	Reasons for acceptance /rejection	Remarks
1	Sarawar Sons & Co.	1,800,000.00	Lowest	Estimate Rate	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
2.	Ghulam Shabir	1820100.00	Highest	1.11% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work
3.	Ashique Ali Junejo	1854190.00	Highest	3.01% above	Qualified as per evaluation criteria	Found responsive Bid recommended for awarded of work

Signature of the Chairman/members of the Committee

SAIN ABRO) Ingineer

Rice Canal Division Mehar @ KN Shah

(BARKAT ALI KHUWAJA)

Executive Engineer Public Health Engineering Division Larkana

(FAYYAZ HUSSAIN QURESHI) Divisional Assaurts Officer Rice Cond. Linksion Mehar

(a) KN Shah

NAME OF WORK:

PROCUREMENT OF GOODS/HIRING MACHINERY/ ABKALANI MATERIAL ALONG DHAMRAO BRANCH RD 315 TO 340 IN DHAMRAO SUB-DIVISION OF RICE CANAL DIVISION MEHAR @ KN SHAH (P-01).

S. NO.	Goods /Items to be supplied (17 Nos.)	ESTIMATE	RATES QUOTED BY THE CONTRACTOR					
		AMOUNT	ALI GOHAR MIRANI		MANTHAR ALI	AMEER ALI ABRO		
			Item Rate quoted by contractor	1300000.00		-		
			TOTAL COST OF TENDER	1300000.00	1342900.00	1354780.00		

FINANCIAL R	EVIEW	Notes The ester sected by ALL COHAD MIDANI Comment Contractor are being	
	Note: The rates quoted by ALI GOHAR MIRANI Government Contractor are being only lowest and reasonable. Hence recommended for approval.		
Difference Rs:	1300000 x 100 1300000= 0	Estimate Rate 0.0%	

(TARIOTE AUSSAIN ABRO)
Executive Engineer

Rice Canal Division Mehar

(a) KN Shah

(BARKAT ALI KHUWAJA)) --

Executive Engineer Public Health Engineering Division Larkana (FAYYAZ HUSSAIN OURESHI)

Divisional Adjounts Officer Rice Canal Division Mehar

NAME OF WORK:

PROCUREMENT OF GOODS/HIRING MACHINERY/ ABKALANI MATERIAL ALONG RICE CANAL RD 340 TO 365 IN DHAMRAO SUB-DIVISION OF RICE CANAL DIVISION MEHAR @ KN SHAH (P-02).

6	Goods /Items to be supplied (17 Nos.)	ESTIMATE	RATES QU	OTED BY THE C	ONTRACTOR	
S. NO.		AMOUNT	GULZAR JUNEJO CONSTT:	AMEER ALI	ALLAH DINO TUNIO	
01.			Item Rate quoted by contractor	1300000.00		. 24
			TOTAL COST OF TENDER	1300000.00	1315240.00	1348360.00

FINANCIAL REVIEW		Note: The rates quoted by GULZAR JUNEJO CONSTT: Government Contractor are		
Estimate cost		being only lowest and reasonable. Hence recommended for approval.		
Difference Rs:	1300000 x 100 1300000= 0	Estimate Rate 0.0%		

(TARIOUS ASSAIN ABRO)

Executive Angineer Rice Canal Division Mehar @ KN Shah

(BARKAT ALI KHUWAJA))

Executive Engineer Public Health Engineering Division Larkana

(FAYYAZ HUSSAIN OURESHI)

Divisional Accounts Officer Rice Canal Division Mehar

(a) KN Shah

NAME OF WORK:

PROCUREMENT OF GOODS/HIRING MACHINERY/ ABKALANI MATERIAL ALONG DHAMRAO BRANCH RD 365 TO 390 IN DHAMRAO SUB-DIVISION OF RICE CANAL DIVISION MEHAR @ KN SHAH (P-03).

S. NO.	ITEM OF WORK	ESTIMATE	RATES QUOTED BY THE CONTRACTOR					
		AMOUNT	AL-MUEED ENGINEERING CONSTRUCTION		AMEER ALI	GULZAR JUNEJO CONSTT:		
	Goods /Items to be supplied (17 Nos.)		Item Rate quoted by contractor	1300000.00				
			TOTAL COST OF TENDER	1300000.00	1332025.00	1352055.00		

FINANCIAL REVIEW		Note: The rates quoted by AL-MUEED ENGINEERING CONSTRUCTION
Estimate cost Rs: 1300000.00	Tender Cost Rs: 1300000.00	
Difference Rs:	1300000 x 100 1300000= 0	Estimate Rate 0.0%

Rice Canal Division Mehar @ KN Shah

(BARKAT ALI KHUWAJA)) -

Executive Engineer Public Health Engineering Division Larkana

(FAYYAZ HESSAHN QURESHI)
Divisional Accounts Officer
Rice Canal Division Mehar

NAME OF WORK:

PROCUREMENT OF GOODS/HIRING MACHINERY/ ABKALANI MATERIAL ALONG MEHAR BRANCH RD 390 TO 408 IN MEHAR SUB-DIVISION OF RICE CANAL DIVISION MEHAR @ KN SHAH (P-04).

		ESTIMATE	RATES QUOTED BY THE CONTRACTOR					
S. NO.	ITEM OF WORK	AMOUNT	ASHIQUE ALI JUNEJO		AL-MUEED ENGINEERING CONSTT:	GULZAR JUNEJO CONSTT:		
01.	Goods /Items to be supplied (17 Nos.)		Item Rate quoted by contractor	1300000.00				
			TOTAL COST OF TENDER	1300000.00	1381100.00	1406450.00		

FINANCIAL REVIEW		Note: The rotes quoted by ASHIOUE ALL HINE IO Comment Controlor on being		
Estimate cost Rs: 1300000.00	Tender Cost Rs: 1300000.00	Note: The rates quoted by ASHIQUE ALI JUNEJO Government Contractor are to only lowest and reasonable. Hence recommended for approval.		
Difference Rs:	1300000 x 100 1300000= 0	Estimate Rate	0.0%	

(TARIO ENUSSAIN ABRO) Executive Engineer

Rice Canal Division Mehar @ KN Shah (BARIMT ALI KHUWAJA))

Executive Engineer
Public Health Engineering Division
Larkana

(FAYYAZ HUSSAIN QURESHI)

Divisional Accounts Officer Rice Canal Division Mehar

NAME OF WORK:

PROCUREMENT OF GOODS/HIRING MACHINERY/ ABKALANI MATERIAL ALONG DHAMRAO BRANCH RD 0 TO 40 IN DHAMRAO SUB-DIVISION OF RICE CANAL DIVISION MEHAR @ KN SHAH (P-05).

0	Goods /Items to be supplied (17 Nos.)	ESTIMATE	RATES QUOTED BY THE CONTRACTOR					
S. NO.		AMOUNT	ALLAH DINO TUNIO		SAFDAR ALI JUNEJO	ASHIQUE ALI JUNEJO		
01.		s to be supplied	Item Rate quoted by contractor	3000000.00				
			TOTAL COST OF TENDER	3000000.00	3138100.00	3197870.00		

FINANCIAL R	EVIEW	Note: The rates quoted by ALLAH DINO TUNIO Government Contractor are be		
Estimate cost Tene Rs: 3000000.00 Rs: 30	Tender Cost Rs: 3000000.00	Note: The rates quoted by ALLAH DINO TUNIO Government Contractor are only lowest and reasonable. Hence recommended for approval.		
Difference Rs:'	3000000 x 100 3000000= 0	Estimate Rate 0.0%		

(TARIQUE HE AIN ABRO)

Rice Canal Division Mehar

@ KN Shah

(BARKAT ALI KHUWAJA))

Executive Engineer Public Health Engineering Division

Larkana

(FAYYAZ HUSSAIN QURESHI)

Divisional Accounts Officer Rice Canal Division Mehar

NAME OF WORK:

PROCUREMENT OF GOODS/HIRING MACHINERY/ ABKALANI MATERIAL ALONG DHAMRAO BRANCH RD 40 TO 80 IN DHAMRAO SUB-DIVISION OF RICE CANAL DIVISION MEHAR @ KN SHAH (P-06).

S. NO.	Goods /Items to be supplied (17 Nos.)	ESTIMATE	RATES QUOTED BY THE CONTRACTOR				
		AMOUNT	SARWAR SONS & CO.	GULZAR JUNEJO	ALLAH DINO TUNIO		
01.			Item Rate quoted by contractor	3000000.00		-	
			TOTAL COST OF TENDER	3000000.00	3110450.00	3156770.00	

FINANCIAL REVIEW		Note: The rates quoted by SARWAR SONS & CO. Covernment Contractor are being		
Estimate cost Rs: 3000000.00	Tender Cost Rs: 3000000.00	Note: The rates quoted by SARWAR SONS & CO. Government Contractor are being only lowest and reasonable. Hence recommended for approval.		
Difference Rs:	3000000 x 100 3000000= 0	Estimate Rate 0.0%		

(TARIOUE (TOSSAIN ABRO)

Rice Canal Division Mehar

@ KN Shah

(BARKAT ALI KHUWAJA)) --

Executive Engineer
Public Health Engineering Division

Larkana

(FAYYAZ HUSSAIN QURESHI)

Divisional Accounts Officer-Rice Canal Division Mehar

NAME OF WORK:

PROCUREMENT OF GOODS/HIRING MACHINERY/ ABKALANI MATERIAL ALONG DHAMRAO BRANCH RD 80 TO 110 IN DHAMRAO SUB-DIVISION OF RICE CANAL DIVISION MEHAR @ KN SHAH (P-07).

		ESTIMATE	RATES QU	OTED BY THE	THE CONTRACTOR		
S. NO.	ITEM OF WORK	AMOUNT	SAFDAR ALI JUNEJO		AMEER ALI ABRO	AL-MUEED ENGR: CONSTT:	
01.	Goods /Items to be supplied (17 Nos.)		Item Rate quoted by contractor	1200000.00		•	
			TOTAL COST OF TENDER	1200000.00	1222175.00	1263205.00	

FINANCIAL REVIEW		Note: The rates quoted by SAFDAR ALI JUNEJO Government Contractor are be		
Estimate cost Rs: 1200000.00	Tender Cost Rs: 1200000.00	only lowest and reasonable. Hence recommended for approval		
Difference Rs:	1200000 x 100 1200000= 0	Estimate Rate 0.0%		

(TARIOU (LASSAIN ABRO)

Rice Canal Division Mehar

(a) KN Shah

(BARKAT ALI KHUWAJA)) --

Executive Engineer Public Health Engineering Division Larkana (FAYYAZ HUSSAIN QURESHI)

Divisional Accounts Officer
Rice Canal Division Mehar

NAME OF WORK:

PROCUREMENT OF GOODS/HIRING MACHINERY/ ABKALANI MATERIAL ALONG MEHAR BRANCH RD 0 TO 40 IN MEHAR SUB-DIVISION OF RICE CANAL DIVISION MEHAR @ KN SHAH (P-08).

S.	ITEM OF WORK	AMOUNT	RATES QUOTED BY THE CONTRACTOR				
NO.			GULZAR JUNEJO CONSTT:		ALI GOHAR MIRANI	SARWAR SONS & CO.	
01.	Goods /Items to be supplied (17 Nos.)		Item Rate quoted by contractor	3000000.00			
			TOTAL COST OF TENDER	3000000.00	3084920.00	3178000.00	

FINANCIAL REVIEW		Note: The rates quoted by CULZAD HINE IO CONSTT. Covernment Contractor		
Estimate cost Rs: 3000000.00	Tender Cost Rs: 3000000.00			
Difference Rs:	3000000 x 100 3000000= 0	Estimate Rate 0.0%		

(TARIOUS SAIN ABRO)

Executive Ingineer Rice Canal Division Mehar

@ KN Shah

(BAR AT ALI KHUWAJA)L -

Executive Engineer
Public Health Engineering Division
Larkana

TFAYYAZ HUSSAIN QURESHID

Divisional Meaounts Officer Rice Canal Division Mehar

NAME OF WORK:

PROCUREMENT OF GOODS/HIRING MACHINERY/ ABKALANI MATERIAL ALONG MEHAR BRANCH RD 40 TO 60 IN MEHAR SUB-DIVISION OF RICE CANAL DIVISION MEHAR @ KN SHAH (P-09).

S.		ESTIMATE	RATES QUOTED BY THE CONTRACTOR				
NO.	ITEM OF WORK	AMOUNT	GHULAM SHABIR		MANTHAR ALI	ALLAH DINO TUNIO	
01.	Goods /Items to be supplied (17 Nos.)		Item Rate quoted by contractor	1500000.00		-	
			TOTAL COST OF TENDER	1500000.00	1606930.00	1633500.00	

FINANCIAL REVIEW		Note: The rates quoted by CHULAM SHADID Comment Control by his all		
Estimate cost Rs: 1500000.00	Tender Cost Rs: 1500000.00	Note: The rates quoted by GHULAM SHABIR Government Contractor are being only lowest and reasonable. Hence recommended for approval.		
Difference Ks:	1500000 x 100 1500000= 0	Estimate Rate 0.0%		

(TARIQUE MUSIAIN ABRO)

Executive Angineer Rice Canal Division Mehar

@ KN Shah

(BARKAT ALI KHUWAJA))

Executive Engineer Public Health Engineering Division

Larkana

(FAYYAZ HUSSAIN QURESHIP

Divisional Accounts Officer

Rice Canal Division Mehar

NAME OF WORK:

PROCUREMENT OF GOODS/HIRING MACHINERY/ ABKALANI MATERIAL ALONG MEHAR BRANCH RD 60 TO 107 IN MEHAR SUB-DIVISION OF RICE CANAL DIVISION MEHAR @ KN SHAH (P-10).

S.		AMOUNT	RATES QUOTED BY THE CONTRACTOR				
NO.	ITEM OF WORK		ALLAH DINO TUNIO		SAFDAR ALI JUNEJO	ALI GOHAR MIRANI	
01.	Goods /Items to be supplied (17 Nos.)		Item Rate quoted by contractor	2700000.00			
			TOTAL COST OF TENDER	2700000.00	2731600.00	2775010.00	

			Note: The rates quoted by ALLAH DINO TUNIO Government Contractor are being only lowest and reasonable. Hence recommended for approval.		
	Difference Rs:	2700000 x 100 2700000= 0	Estimate Rate 0.0%		

(TARIOUTE FITTE SAIN ABRO)
Executive Engineer

Rice Canal Division Mehar @ KN Shah

(BARKAT ALI KHUWAJA))

Executive Engineer Public Health Engineering Division Larkana

(FAYYAZ HUSSAIN OURESHI)

Divisional Accounts Officer Rice Canal Division Mehar @ KNShah

NAME OF WORK:

PROCUREMENT OF GOODS/HIRING MACHINERY/ ABKALANI MATERIAL ALONG FP BUND RD 220 TO 285 IN MEHAR SUB-DIVISION OF RICE CANAL DIVISION MEHAR @ KN SHAH (P-11).

S.		ESTIMATE	RATES QUOTED BY THE CONTRACTOR				
NO.	ITEM OF WORK	AMOUNT	GULZAR JUNEJO CONSTT:	4-10-	SAFDAR ALI JUNEJO	ALLAH DINO TUNIO	
01.	Goods /Items to be supplied (17 Nos.)		Item Rate quoted by contractor	3000000.00			
			TOTAL COST OF TENDER	3000000.00	3038140.00	3080180.00	

FINANCIAL REVIEW		Note: The rates quoted by GULZAR JUNEJO CONSTT: Government Contractor are
Estimate cost Rs: 3000000.00	Tender Cost Rs: 3000000.00	being only lowest and reasonable. Hence recommended for approval.
Difference Rs:	3000000 x 100 3000000= 0	Estimate Rate 0.0%

(TARIO (TARIO (TARIO)

Executive Engineer Rice Canal Division Mehar @ KN Shah (BARKAT ALI KHUWAJA))

Executive Engineer Public Health Engineering Division Larkana (FAYYAZ HUSSAIN QURESHI)
Divisional Accounts Officer

Divisional Accounts Officer Rice Canal Division Mehar

NAME OF WORK:

PROCUREMENT OF GOODS/HIRING MACHINERY/ ABKALANI MATERIAL ALONG FP BUND RD 285 TO 315 IN DHAMRAO SUB-DIVISION OF RICE CANAL DIVISION MEHAR @ KN SHAH (P-12).

		ESTIMATE	RATES QU	OTED BY THE C	E CONTRACTOR		
S. NO.	ITEM OF WORK	AMOUNT	AMEER ALI ABRO		ASHIQUE ALI JUNEJO	ALI GOHAR MIRANI	
01.	Goods /Items to be supplied (17 Nos.)		Item Rate quoted by contractor	1800000.00			
7-			TOTAL COST OF TENDER	1800000.00	1856450.00	1890640.00	

FINANCIAL R	EVIEW	Note: The rates quoted by AMEED ALLAPPO Coverment Contractor are being only
Estimate cost Rs: 1800000.00	Tender Cost Rs: 1800000.00	Note: The rates quoted by AMEER ALI ABRO Government Contractor are being only lowest and reasonable. Hence recommended for approval.
Difference Rs:	1800000 x 100 1800000= 0	Estimate Rate 0.0%

(TARIOUR POSSAIN ABRO)

Executive Engineer Rice Canal Division Mehar

@ KN Shah

(BARKAT ALI KHUWAJA)) - -

Executive Engineer Public Health Engineering Division Larkana (FAYYAZ HUSSAIN QURESHI)

Divisional Advants Officer Rice Canal Division Mehar

NAME OF WORK:

PROCUREMENT OF GOODS/HIRING MACHINERY/ ABKALANI MATERIAL ALONG FP BUND RD 315 TO 346 IN DHAMRAO SUB-DIVISION OF RICE CANAL DIVISION MEHAR @ KN SHAH (P-13).

S.		ESTIMATE	RATES QUOTED BY THE CONTRACTOR				
NO.	ITEM OF WORK	AMOUNT	SARWAR SONS & CO.		GHULAM SHABIR	ASHIQUE ALI JUNEJO	
01.	Goods /Items to be supplied (17 Nos.)		Item Rate quoted by contractor	1800000.00			
			TOTAL COST OF TENDER	1800000.00	1820100.00	1854190.00	

FINANCIAL R	EVIEW	Note: The rates quoted by SARWAR SONS & CO. Community Contractor and being
Estimate cost Rs: 1800000.00	Tender Cost Rs: 1800000.00	Note: The rates quoted by SARWAR SONS & CO. Government Contractor are being only lowest and reasonable. Hence recommended for approval.
Difference Rs:	1800000 x 100 1800000= 0	Estimate Rate 0.0%

(TARIQUE XIII ABRO)
Executive Xiigineer

Rice Canal Division Mehar @ KN Shah

(BARKAT ALI KHUWAJA))

Executive Engineer Public Health Engineering Division Larkana

(FAYYAZ HUSSAIN QURESHI)

Divisional Accounts Officer - Rice Canal Division Mehar



#### OFFICE OF THE CHIEF ENGINEER SUKKUR BARRAGE RIGHT BANK REGION LARKANA

MIRO KHAN ROAD RBOD WAPDA COLONY LARKANA

cerbrlarkana@hotmail.com

Fax No. 074-4753062

Ph. No. 074-4753063

No. WB-II/RBR/Procurement Committee/WSC/RCD-M/2017/4-W/(Co 6 Larkana dated 17/05/2017.

#### NOTIFICATION

With the approval of competent authority i.e Secretary to Government of Sindh Irrigation Department Karachi vide letter No. S.O (R&S)8-110/2015-16/2215 dated 29-09-2015 procurement committee comprising of following officer is hereby constituted in terms of rules 7 of SPP Rules 2010 (Amended-2013) for procurement of ADP / Non-ADP in Executive Engineer, Rice Canal Division, Mehar @ K.N Shah for the year 2017-18.

1, Executive Engineer.

(Chairman)

Rice Canal Division, Mehar @ K.N Shah.

2, Executive Engineer,

(Member)

Public Health Engineering Division, Larkana.

Divisional Accounts Officer, 3, Rice Canal Division, Mehar @ K.N Shah.

(Member/Secretary)

1. Terms of reference as per Rule 8-SPPRA-2010.

2. Carrying out Technical & as well financial evaluation of Bids.

3. Preparing recommendation for award of contract to the competent authority.

4. Perform any other function & authority incidental to the above.

(AIJAZ SHAIKH) CHIEF ENGINEER

Copy for information to:-

The Secretary, to Government of Sindh, Irrigation Department, Karachi.

The Managing Director SPPRA Barrack-84-A Secretariat Court Road Karachi for information and declaration on website.

3. The Superintending Engineer, Western Sindh Circle Larkana.

The Chairman / Executive Engineer Rice Canal Division, Mehar @ K.N Shah.

The Member / Executive Engineer, Public Health Engineering Division, Larkana. 5.

The Member / Secretary, Divisional Accounts Officer Rice Canal Division, Mehar 6. @ K.N Shah.

CHIEF ENGINEER



#### GOVERNMENT OF SINDH IRRIGATION DEPARTMENT

#### NOTIFICATION

O(R&S)8-110/2012-13: With the approval of competent authority, a Complaint Redressal imittee is hereby constituted in terms of Rule 31(1) of Sindh Public Procurement Rule 2010 ended 2013) regarding ADP schemes 2015-16 of Irrigation Department, Government of the pertaining to Sukkur Barrage Right Bank Region Larkana with the following aposition:-

Chief Engineer, Sukkur Barrage Left Bank Region Sukkur  Superintending Engineer, Khairpur Irrigation Circle, Sukkur  Executive Engineer (Concerned Division) Irrigation Department  District Accountant Officer Sindh (Concerned Division)  Assistant Secretary	1.	Director General Monitoring & Evaluation Cell Irrigation Department, Government of Sindh	Chairman
Khairpur Irrigation Circle, Sukkur  4. Executive Engineer Secretary (Concerned Division) Irrigation Department  5. District Accountant Officer Sindh Assistant	Z.		Member
(Concerned Division) Irrigation Department  5. District Accountant Officer Sindh Assistant	3.		Member
	4.		Secretary
	5.		

T.O.R's of the Committee are as provided under Rule 31 of Sindh Public Procurement Rule 2010 and also perform any other function ancillary and incidental to the above.

#### SYED ZAHEER HYDER SHAH SECRETARY TO GOVT. OF SINDH

lo.SO(R&S)8-110/2012-13 Karachi, d copy is forwarded for information & necessary action to:-

Karachi, dated the 9." October, 2015. y action to:-

- The Accountant General Sindh, Karachi with the request to nominate your representative for the above Complaint Redressal Committee.
- 2. The Director General, Monitoring & Evaluation Cell, Irrigation Department, Government of Sindh, Karachi.
- 3. The M. D. Sindh Public Procurement Regulatory Authority Karachi.
- The Chief Engineer, (All) Irrigation Development, Govt. of Sindh.
   The Superintending Engineer, (All) Irrigation Deptt, Govt. of Sindh.
- 6. The Executive Engineer, (All), Irrigation Department. Govt. of Sindh.
- 7. P.S. to Secretary Irrigation Department, Govt. of Sindh, Karachi.

SECTION OFFICER (RR&S.)
For Secretary to Government of Sindh

#### **OFFICE OF THE EXECUTIVE ENGINEER**

RICE CANAL DIVISION MEHAR @ KN SHAH.

No: TC/G-55/ 563 of 2017,

KN Shah dated 10/8 /2017.

#### MINUTES OF PROCUREMENT COMMITTEE

A meeting of the procurement committee was held on 10.08.2017 at 3.00 PM for the bids called upon vide NIT No. SKP/G-66/472 dated 06/07/2017. The meeting was chaired by the Executive Engineer Rice Canal Division Mehar @ KN Shah and held in this office while attended by the following official members: -

1/- Barkat Ali Khuwaja

Member

Executive Engineer
Public Health Engineering Division
Larkana

2/- Fayyaz Ahmed Qureshi

Member

Divisional Accounts Officer Rice Canal Division Mehar @ KN Shah

There were Thirty Nine (39) Nos. of tenders issued and response from all tenders were received, the sealed Bids were opened before all the participants /Contractors. The rates quoted by them were announced formally in presence of the participants/their representative and accordingly recorded in the comparative statement/Bid Evaluation report. There was no over writing or cutting found in the furnished bids/tenders.

(TARIQUE HUSSAIN ABRO)
Executive Engineer
Rice Canal Division Mehar

@ KN Shah

Copy forwarded with compliments to: -

 The Chief Engineer Sukkur Barrage Right Bank Region Larkana for favour of kind information.

2. The Superintending Engineer Western Sindh Circle Larkana for kind

information.

(TARIOUN HUSSAIN ABRO)
Executive Engineer
Rice Canal Division Mehar

Name of Division: -

Executive Engineer Rice Canal Division Mehar @ KN Shah.

Name of Work: -

Procurement of Goods /Hiring Machinery /Abkalani Material along Dhamrao Branch RD 315 to 340 in Dhamrao Sub-Division of Rice

Canal Division Mehar @ KN Shah (P-01).

Notice Inviting Tender: -

No. SKP/G-66/ 472 dated 06.07.2017.

Sr.	Description	NAME OF BIDDER			
No.		Ali Gohar Mirani	Mantha <b>r</b> Ali	Ameer Ali Abro	
1	Is envelope sealed	Yes			
2	Required Amount of Bid Security	Yes		-	
3	Alternated Bid	No			
4	Withdrawal	No	-		
5	Price Read Out	Yes			
6	Form of tender signed or not	Yes			
7	Required PEC Registration	Yes			
8	Registration in SBR.	Yes			
9	Registration in I. Tax	Yes			
10	More than 3 years Experience in similar work	Yes			
11	Any litigation or black listing	No			
12	List of Machinery & Equipment provided?	Yes			
13	Personnel Information Provided?	Yes	F. O. F. L. C.		
14	Financial Statement viz Bank statement / Income Tax Return attached?	Yes			
15	Any overwriting tender dropped?	No			
16	Any conditional / telegraphic bid received?	No			
17	Tender fee received?	Yes			

(TARIOUS ESSAIN ABRO)
Executive Engineer
Rice Canal Division Mehar
@ KN Shah

Name of Division: -

Executive Engineer Rice Canal Division Mehar @ KN Shah.

Name of Work: -

Procurement of Goods /Hiring Machinery /Abkalani Material along Rice Canal RD 340 to 365 in Dhamrao Sub-Division of Rice Canal

Division Mehar @ KN Shah (P-02).

Notice Inviting Tender: -

No. SKP/G-66/ 472 dated 06.07.2017.

Sr.		N.	AME OF BIDDE	R
No.	Description	Gulzar Junejo Contt:	Ameer Ali	Allah Dino Tunio
1	Is envelope sealed	Yes		
2	Required Amount of Bid Security	Yes		
3	Alternated Bid	No		
4	Withdrawal	No		
5	Price Read Out	Yes		
6	Form of tender signed or not	Yes		
7	Required PEC Registration	Yes	HY WATER	
8	Registration in SBR.	Yes		
9	Registration in I. Tax	Yes		
10	More than 3 years Experience in similar work	Yes		
11	Any litigation or black listing	No		
12	List of Machinery & Equipment provided?	Yes		-
13	Personnel Information Provided?	Yes		
14	Financial Statement viz Bank statement / Income Tax Return attached?	Yes	-	- 13
15	Any overwriting tender dropped?	No		
16	Any conditional / telegraphic bid received?	No		
17	Tender fee received?	Yes		

(TARIOLA ABRO)

Exceptive Engineer Rice Canal Division Mehar @ KN Shah

Name of Division: -

Executive Engineer Rice Canal Division Mehar @ KN Shah.

Name of Work: -

Procurement of Goods /Hiring Machinery /Abkalani Material along Dhamrao Branch RD 365 to 390 in Dhamrao Sub-Division of Rice

Canal Division Mehar @ KN Shah (P-03).

Notice Inviting Tender: -

No. SKP/G-66/ 472 dated 06.07.2017.

		N	AME OF BIDDER	3
Sr. No.	Description	Al-Mueed Engineering Constt:	Ameer Ali Abro	Gulzar Junejo Constt:
1	Is envelope sealed	Yes		
2	Required Amount of Bid Security	Yes	-	
3	Alternated Bid	No		
4	Withdrawal	No		
5	Price Read Out	Yes		
6	Form of tender signed or not	Yes		
7	Required PEC Registration	Yes		-
8	Registration in SBR.	Yes	- 1	
9.	Registration in I. Tax	Yes		
10	More than 3 years Experience in similar work	Yes		
11	Any litigation or black listing	No		
12	List of Machinery & Equipment provided?	Yes		
13	Personnel Information Provided?	Yes .		
14	Financial Statement viz Bank statement / Income Tax Return attached?	Yes		
15	Any overwriting tender dropped?	No		
16	Any conditional / telegraphic bid received?	No		
17	Tender fee received?	Yes		

(TARIO (LECHI) SAIN ABRO)

Exercitive Engineer

Rice Canal Division Mehar

@ KN Shah

Name of Division: -

Executive Engineer Rice Canal Division Mehar @ KN Shah.

Name of Work: -

Procurement of Goods /Hiring Machinery /Abkalani Material along

Mehar Branch RD 390 to 408 in Mehar Sub-Division of Rice Canal

Division Mehar @ KN Shah (P-04).

Notice Inviting Tender: -

No. SKP/G-66/ 472 dated 06.07.2017.

	MERCHANDON BLEEF CE EL		AME OF BIDDE	R
Sr. No.	Description	Ashique Ali Junejo	Al-Mueed Engineering Constt:	Gulzar Junejo Contt:
1	Is envelope sealed	Yes		
2	Required Amount of Bid Security	Yes		
3	Alternated Bid	No	-	
4	Withdrawal	No		
5	Price Read Out	Yes		
6	Form of tender signed or not	Yes		
7	Required PEC Registration	Yes		-
8	Registration in SBR.	Yes		-
9	Registration in I. Tax	Yes		
10	More than 3 years Experience in similar work	Yes		
11	Any litigation or black listing	No		
12	List of Machinery & Equipment provided?	Yes		-
13	Personnel Information Provided?	Yes		1917
14	Financial Statement viz Bank statement / Income Tax Return attached?	Yes		
15	Any overwriting tender dropped?	No .		
16	Any conditional / telegraphic bid received?	No		
17	Tender fee received?	Yes		

(TARIQUE (USSAIN ABRO) Rice Canal Division Mehar @ KN Shah

Name of Division: -

Executive Engineer Rice Canal Division Mehar @ KN Shah.

Name of Work: -

Procurement of Goods /Hiring Machinery /Abkalani Material along Dhamrao Branch RD 0 to 40 in Dhamrao Sub-Division of Rice

Canal Division Mehar @ KN Shah (P-05).

Notice Inviting Tender: -

No. SKP/G-66/472 dated 06.07.2017.

Sr.		N	IAME OF BIDDE	R
No.	Description	Allah Dino Tunio	Safdar Ali Junejo	Ashique Ali Junejo
1	Is envelope sealed	Yes		
2	Required Amount of Bid Security	Yes		
3	Alternated Bid	No		10
4	Withdrawal	No		
5	Price Read Out	Yes		
6	Form of tender signed or not	Yes		
7	Required PEC Registration	Yes		
8	Registration in SBR.	Yes		
9	Registration in I. Tax	Yes		
10	More than 3 years Experience in similar work	Yes		
11	Any litigation or black listing	No		
12	List of Machinery & Equipment provided?	Yes		-
13	Personnel Information Provided?	Yes		
14	Financial Statement viz Bank statement / Income Tax Return attached?	Yes		
15	Any overwriting tender dropped?	No		
16	Any conditional / telegraphic bid received?	No	-	
17	Tender fee received?	Yes		

(TARIOUR SEARN ABRO)
Executive Engineer
Rice Canal Division Mehar
@ KN Shah

Name of Division: -

Executive Engineer Rice Canal Division Mehar @ KN Shah.

Name of Work: -

Procurement of Goods /Hiring Machinery /Abkalani Material along Dhamrao Branch RD 40 to 80 in Dhamrao Sub-Division of Rice

Canal Division Mehar @ KN Shah (P-06).

Notice Inviting Tender: -

No. SKP/G-66/ 472 dated 06.07.2017.

Sr.	Description	NA NA	ME OF BIDDE	R
No.		Sarwar Sons & Co.	Gulzar Junejo	Allah Dino Tunio
1	Is envelope sealed	Yes	-	-
2	Required Amount of Bid Security	Yes		-
3	Alternated Bid	No		
4	Withdrawal	No		
5	Price Read Out	Yes		
6	Form of tender signed or not	Yes		
7	Required PEC Registration	Yes		
8	Registration in SBR.	Yes		
9	Registration in I. Tax	Yes		
10	More than 3 years Experience in similar work	Yes		
11	Any litigation or black listing	No		
12	List of Machinery & Equipment provided?	Yes		
13	Personnel Information Provided?	Yes		
14	Financial Statement viz Bank statement / Income Tax Return attached?	Yes		
15	Any overwriting tender dropped?	No		
16	Any conditional / telegraphic bid received?	No		
17	Tender fee received?	Yes		

(TARIQUE 69 SAIN ABRO)
Executive Engineer
Rice Canal Division Mehar

(i) KN Shah

Name of Division: -

Executive Engineer Rice Canal Division Mehar @ KN Shah.

Name of Work: -

Procurement of Goods /Hiring Machinery /Abkalani Material along Dhamrao Branch RD 80 to 110 in Dhamrao Sub-Division of Rice Canal Division Mehar @ KN Shah (P-07).

Notice Inviting Tender: -

No. SKP/G-66/ 472 dated 06.07.2017.

		NAME OF BIDDER				
Sr. No.	Description	Safdar Ali Junejo	Ameer Ali Abro	Al-Mueed Engineering Constt:		
1	Is envelope sealed	Yes				
2	Required Amount of Bid Security	Yes				
3	Alternated Bid	No				
4	Withdrawal	No				
5	Price Read Out	Yes	-			
6	Form of tender signed or not	Yes				
7	Required PEC Registration	Yes				
8	Registration in SBR.	Yes				
9	Registration in I. Tax	Yes				
10	More than 3 years Experience in similar work	Yes				
11	Any litigation or black listing	No ·				
12	List of Machinery & Equipment provided?	Yes				
13	Personnel Information Provided?	Yes				
14	Financial Statement viz Bank statement / Income Tax Return attached?	Yes				
15	Any overwriting tender dropped?	No				
16	Any conditional / telegraphic bid received?	No				
17	Tender fee received?	Yes	- 1			

Executive Engineer Rice Canal Division Mehar @ KN Shah

Name of Division: -

Executive Engineer Rice Canal Division Mehar @ KN Shah

Name of Work: -

Procurement of Goods /Hiring Machinery /Abkalani Material along Mehar Branch RD 0 to 40 in Mehar Sub-Division of Rice Canal

Division Mehar @ KN Shah (P-08).

Notice Inviting Tender: -

No. SKP/G-66/ 472 dated 06.07.2017.

	Description	NAME OF BIDDER				
Sr. No.		Gulzar Junejo Constt:	Ali Gohar Mirani	Sarwar Sons & Co.		
1	Is envelope sealed	Yes				
2	Required Amount of Bid Security	Yes				
3	Alternated Bid	No				
4	Withdrawal	No				
5	Price Read Out	Yes	Interested			
6	Form of tender signed or not	Yes				
7	Required PEC Registration	Yes		- 12.		
8	Registration in SBR.	Yes	The Table			
9	Registration in I. Tax	Yes				
10	More than 3 years Experience in similar work	Yes	-			
11	Any litigation or black listing	No				
12	List of Machinery & Equipment provided?	Yes		-		
13	Personnel Information Provided?	Yes		- 1		
14	Financial Statement viz Bank statement / Income Tax Return attached?	Yes				
15	Any overwriting tender dropped?	No				
16	Any conditional / telegraphic bid received?	No				
17	Tender fee received?	Yes				

(TARIQUE LASSAIN ABRO)
Executive Engineer
Rice Canal Division Mehar
@ KN Shah

Name of Division: -

Executive Engineer Rice Canal Division Mehar @ KN Shah.

Name of Work: -

Procurement of Goods /Hiring Machinery /Abkalani Material along

Mehar Branch RD 40 to 60 in Mehar Sub-Division of Rice Canal

Division Mehar @ KN Shah (P-09).

Notice Inviting Tender: -

No. SKP/G-66/ 472 dated 06.07.2017.

Sr.	Description	NAME OF BIDDER				
No.		Ghulam Shabir	Manthar Ali	Allah Dino Tunio		
1	Is envelope sealed	Yes		-		
2	Required Amount of Bid Security	Yes				
3	Alternated Bid	No		-		
4	Withdrawal	No				
5	Price Read Out	Yes				
6	Form of tender signed or not	Yes				
7	Required PEC Registration	Yes				
8	Registration in SBR.	Yes				
9	Registration in I. Tax	Yes	107-100			
10	More than 3 years Experience in similar work	Yes				
11	Any litigation or black listing	No				
12	List of Machinery & Equipment provided?	Yes				
13	Personnel Information Provided?	Yes	- 3.4			
14	Financial Statement viz Bank statement / Income Tax Return attached?	Yes	-	-		
15	Any overwriting tender dropped?	No				
16	Any conditional / telegraphic bid received?	No				
17	Tender fee received?	Yes	The state of the			

(TARIOUE) (DSSAIN ABRO)
Executive Engineer
Rice Canal Division Mehar
@ KN Shah

Name of Division: -

Executive Engineer Rice Canal Division Mehar @ KN Shah.

Name of Work: -

Procurement of Goods /Hiring Machinery /Abkalani Material along

Mehar Branch RD 60 to 107 in Mehar Sub-Division of Rice Canal

Division Mehar @ KN Shah (P-10).

Notice Inviting Tender: -

No. SKP/G-66/ 472 dated 06.07 2017.

Sr.		NAME OF BIDDER			
No.	Description	Allah Dino Tunio	Safdar Ali Junejo	Ali Gohar Mirani	
1	Is envelope sealed	Yes			
2	Required Amount of Bid Security	Yes			
3	Alternated Bid	No		-	
4	Withdrawal	No			
5	Price Read Out	Yes		-	
6	Form of tender signed or not	Yes	-		
7	Required PEC Registration	Yes			
8	Registration in SBR.	Yes		-	
9	Registration in I. Tax	Yes		-	
10	More than 3 years Experience in similar work	Yes			
11	Any litigation or black listing	No	ETISTICS.		
12	List of Machinery & Equipment provided?	Yes			
13	Personnel Information Provided?	Yes			
14	Financial Statement viz Bank statement / Income Tax Return attached?	Yes	-		
15	Any overwriting tender dropped?	No			
16	Any conditional / telegraphic bid received?	No			
17	Tender fee received?	Yes			

Executive Engineer
Rice Canal Division Mehar

@ KN Shah

Name of Division: -

Executive Engineer Rice Canal Division Mehar @ KN Shah.

Name of Work: -

Procurement of Goods /Hiring Machinery /Abkalani Material along FP Bund RD 220 to 285 in Mehar Sub-Division of Rice Canal

Division Mehar @ KN Shah (P-11).

Notice Inviting Tender: -

No. SKP/G-66/472 dated 06.07.2017.

Sr.		NAME OF BIDDER				
No.	Description	Gulzar Junejo Contt:	Safdar Ali Junejo	Allah Dino Tunio		
1	Is envelope sealed	Yes				
2	Required Amount of Bid Security	Yes				
3	Alternated Bid	No				
4	Withdrawal	No				
5	Price Read Out	Yes	, ,			
6	Form of tender signed or not	Yes				
7	Required PEC Registration	Yes		-		
8	Registration in SBR.	Yes		-		
9	Registration in I. Tax	Yes				
10	More than 3 years Experience in similar work	Yes				
11	Any litigation or black listing	No				
12	List of Machinery & Equipment provided?	Yes		-		
13	Personnel Information Provided?	Yes				
14	Financial Statement viz Bank statement / Income Tax Return attached?	Yes				
15	Any overwriting tender dropped?	No				
16	Any conditional / telegraphic bid received?	No				
17	Tender fee received?	Yes				

(TARIQUE HUSSAIN ABRO) Executive Engineer Rice Canal Division Mehar @ KN Shah

## PREQUALIFICATION /TECHNICAL EVALUATION REPORT/

Name of Division: - Executive Engineer Rice Canal Division Mehar @ KN Shah.

Name of Work: - Procurement of Goods /Hiring Machinery /Abkalani Material along

FP Bund RD 285 to 315 in Dhamrao Sub-Division of Rice Canal

Division Mehar @ KN Shah (P-12).

Notice Inviting Tender: - No. SKP/G-66/ 472 dated 06.07.2017.

Sr.		NAME OF BIDDER				
No.	Description	Ameer Ali Abro	Ashique Ali Junejo	Ali Gohar Mirani		
1	Is envelope sealed	Yes				
2	Required Amount of Bid Security	Yes	-			
3	Alternated Bid	No				
4	Withdrawal	No				
5	Price Read Out	Yes				
6	Form of tender signed or not	Yes				
7	Required PEC Registration	Yes				
8	Registration in SBR.	Yes	111 - 1113			
9	Registration in I. Tax	Yes				
10	More than 3 years Experience in similar work	Yes				
11	Any litigation or black listing	No				
12	List of Machinery & Equipment provided?	Yes				
13	Personnel Information Provided?	Yes				
14	Financial Statement viz Bank statement / Income Tax Return attached?	Yes				
15	Any overwriting tender dropped?	No				
16	Any conditional / telegraphic bid received?	No				
17	Tender fee received?	Yes	-			

(TARIOUS HUSSAIN ABRO)
Executive Engineer
Rice Canal Division Mehar
@ KN Shah

Name of Division: -

Executive Engineer Rice Canal Division Mehar @ KN Shah.

Name of Work: -

Procurement of Goods /Hiring Machinery /Abkalani Material along FP Bund RD 315 to 346 in Dhamrao Sub-Division of Rice Canal

Division Mehar @ KN Shah (P-13).

Notice Inviting Tender: -

No. SKP/G-66/ 472 dated 06.07.2017.

Sr.		NAME OF BIDDER			
No.	Description	Sarwar Sons & Co.	Ghulam Shabir	Ashique Ali Junejo	
1	Is envelope sealed	Yes			
2	Required Amount of Bid Security	Yes			
3	Alternated Bid	No			
4	Withdrawal	No			
5	Price Read Out	Yes			
6	Form of tender signed or not	Yes			
7	Required PEC Registration	Yes		- 11	
8	Registration in SBR.	Yes			
9	Registration in I. Tax	Yes			
10	More than 3 years Experience in similar work	Yes			
11	Any litigation or black listing	No			
12	List of Machinery & Equipment provided?	Yes			
13	Personnel Information Provided?	Yes			
14	Financial Statement viz Bank statement / Income Tax Return attached?	Yes			
15	Any overwriting tender dropped?	No			
16	Any conditional / telegraphic bid received?	No			
17	Tender fee received?	Yes			

(TARIQUE HUSSAIN ABRO)
Executive Engineer
Rice Canal Division Mehar
@ KN Shah

### ATTENDANCE SHEET

The Procurement Committee Comprising on the following officers for opening of Bids on 10 / 08 /2017 in the office of Executive Engineer Rice Canal Division Mehar @ KN Shah.

(Member)

(Member)

- 1. Mr. Tarique Hussain Abro
  Executive Engineer
  Rice Canal Division Mehar @ KN Shah
- 2. Mr. Barkat Ali Khuwaja
  Executive Engineer
  Public Health Engineering Division
  Larkana
- 3. Mr. Fayyaz Hussain Qureshi
  Divisional Accounts Officer
  Rice Canal Division Mehar @ KN Shah

The following Contractors participated/attended in Bidding Process at the Time of opening of Tenders Bids on 10 / 08 /2017.

S. #	NAME OF CONTRACTOR	SIGNATURE
1	Ali Gohar Mirani	(F) S
2	Manthar Ali	Martin
3	Ameer Ali Abro	Dil
4	Gulzar Junejo Constt:	asses
5	Allah Dino Tunio	AUD
6	Al-Mueed Engineering Constt:	Denet
7	Ashique Ali Junejo	De la
8	Safdar Ali Junejo	Direfo
9	Sarwar Sons & Co.	Adm.
10	Ghulam Shabir	quille

# NAME OF WORK :- PROCUREMENT OF GOODS/HIRING MACHINERY/ABKALANI MATERIAL ALONG RICE CANAL RD 390 TO 408 (P-04)

SNO	ITEM	QTY	RATE	PER	AMOUNT
1	Empty Gunny Bags 2 <sup>nd</sup> Bharthi	100	1707	Each	17000-
2	Plastic Katta	115	40-	Each	4600-
3	Bengali Twine	5	300-	Kg	1500.
4	Munjwan Inferior	5	190-	Kg	950-
5	Tuwas Double molded	200	245-	Each	4geec-
6	Date mats 6x4	100	115-	Each	11500-
7	Reed Patals six 6x4	200	270-	Each	54000-
8	Manjhadri Panjars 10x12	150	280-	Each	42000-
9	Bahan Waras	50	32e-	Each	1600-
10	Babul Munnas	50	525-	Each	26250-
11	Sheesham rope	5	200-	Kg	1000-
12	Bahan Panjars	100	175	Each	17500-
13	Un skilled labour	40	(350)	Each	14000-
	B- HIRING OF MACHI	NERY V	EHICLI	ES	
1	Tractor with Hydraulic trolley with POL for shifting earth i/c carriage	250	1850	P. Trip	4625co
2	Tractor with front blade on hire charges with POL	200	1210 -	P hour	242000_
3	Excavator machine on hire charges with POL	78	3400_	P hour	265200-
4	Datsun pickup on hire charges	25	3000	P day	75000-
				Total	1200800

050

(TARIOUS THUSSAIN ABRO)

Rice Canal Division Mehar @ KN Shah

NAME OF WORK :- PROCUREMENT OF GOODS/HIRING MACHINERY/ABKALANI
MATERIAL ALONG DHAMRAO BRANCH RD 0 TO 40 (P-05)

SNO	ITEM	QTY	RATE	PER	AMOUNT
1	Empty Gunny Bags 2 <sup>nd</sup> Bharthi	250	180/-	Each	45000/-
2	Plastic Katta	282	50/-	Each	141004
3	Bengali Twine	10	350/-	Kg	3500/2
4	Munjwan Inferior	10	200/-	Kg	2000/-
5	Tuwas Double molded	450	250/-	Each	112500/
6	Date mats 6x4	250	120/	Each	30000/
7	Reed Patals six 6x4	450	2804	Each	126000£
8	Manjhadri Panjars 10x12	300	280/4	Each	84000/
9	Bahan Waras	150	3504	Each	52500/-
10	Babul Munnas	150	530L	Each	79500/
11	Sheesham rope	10	2/0/4	Kg	2100/-
12	Bahan Panjars	250	180/-	Each	45000/-
13	Un skilled labour	40	400/	Each	16000/
	B- HIRING OF MACHI	NERY V	EHICL	ES	
1	Tractor with Hydraulic trolley with POL for shifting earth i/c carriage	366	1850/	P. Trip	677100/
2	Tractor with front blade on hire charges with POL	535	12501	P hour	652700/
3	Excavator machine on hire charges with POL	250	3500/	P Hour	8750004
4	Datsun pickup on hire charges	61	30001	P day	183000/
				Total	30,00,000/

Allh

(TARIOU HUSSAIN ABRO)

Executive Engineer

Rice Canal Division Mehar @ KN Shah

NAME OF WORK:-

# PROCUREMENT OF GOODS/HIRING MACHINERY/ABKALANI MATERIAL ALONG MEHAR BRANCH RD 60 TO 107

	A-ABKALA	NI MATEI	RIAL		
SNO	ITEM	QTY	RATE	PER	AMOUNT
1	Empty Gunny Bags 2 <sup>nd</sup> Bharthi	200	1.70	Each	34000-
2	Plastic Katta	230	40	Each	9200-
3	Bengali Twine	10	445	Kg	4450-
4	Munjwan Inferior	10	190	Kg	1900-
5	Tuwas Double molded	200	245	Each	49000-
6	Date mats 6x4	100	115	Each	11500-
7	Reed Patals six 6x4	150	270	Each	40500-
8	Manjhadri Panjars 10x12	100	250	Each	28000-
9	Bahan Waras	50	320	Each	16000-
10	Babul Munnas	50	525	Each	2620-
11	Sheesham rope	5	200	Kg	1000 -
12	Bahan Panjars	100	175	Each	17500 -
13	Un skilled labour	40	(350)	Each	14000-
	B- HIRING OF MAC	CHINERY V	EHICL	ES	
1	Tractor with Hydraulic trolley with POL for shifting earth i/c carriage	or 450	1850	P. Trip	832500_
2	Tractor with front blade on hire charges wi POL	th 500	1210	P hour	605000.
3	Excavator machine on hire charges with PO	DL 243	3400	P hour	826200-
4	Datsun pickup on hire charges	61	3ce	P day	183000-
ang.				Total	2700000

(TARTO E MUSSAIN ABRO)

Executive Engineer

Rice Canal Division Mehar @ KN Shah

# NAME OF WORK:- PROCUREMENT OF GOODS/HIRING MACHINERY/ABKALANI MATERIAL ALONG MEHAR BRANCH RD 0 TO 40

SNO	ITEM	QTY	RATE	PER	AMOUNT
1	Empty Gunny Bags 2 <sup>nd</sup> Bharthi	250	180-	Each	215000-
2	Plastic Katta	282	50-	Each	14100-
3	Bengali Twine	10	350-	Kg	3500-
4	Munjwan Inferior	10	200-	Kg	2000-
5	Tuwas Double molded	450	250-	Each	115200
6	Date mats 6x4	250	120-	Each	30000-
7	Reed Patals six 6x4	450	280-	Each	126000-
8	Manjhadri Panjars 10x12	300	280-	Each	84000-
9	Bahan Waras	150	350-	Each	52500-
10	Babul Munnas	150	530-	Each	79500-
11	Sheesham rope	10	210-	Kg	2100-
12	Bahan Panjars	250	180-	Each	45000-
13	Un skilled labour	40	(400)	Each	16000-
	B- HIRING OF MACHI	NERY V	/EHICLI	ES	
1	Tractor with Hydraulic trolley with POL for shifting earth i/c carriage	366	1820	P. Trip	677100-
2	Tractor with front blade on hire charges with POL	535	1220-	P hour	652708-
3	Excavator machine on hire charges with POL	250	3000_	P Hour	875000-
4	Datsun pickup on hire charges	61	3000/	P day	183000 -

Culson

W.

(TARIQUE PROSATN ABRO)

Executive Engineer

Rice Canal Division Mehar @ KN Shah

NAME OF WORK :-

PROCUREMENT OF GOODS/HIRING MACHINERY/ABKALANI MATERIAL ALONG RICE CANAL RD 315 TO 340

S NO	ITEM	QTY	RATE	PER	AMOUNT
	Empty Gunny Bags 2 <sup>nd</sup> Bharthi	100	1170	Each	Muo-
1		115	40	Each	4600-
2	Plastic Katta	5	300	Kg	1900-
3	Bengali Twine	5	190	Kg	952-
4	Munjwan Inferior	200	245	Each	49000 -
5	Tuwas Double molded	100	115	Each	11500-
6	Date mats 6x4	200	274	Each	Sticco-
7	Reed Patals six 6x4	150	280	Each	42000-
8	Manjhadri Panjars 10x12  Bahan Waras	50	320	Each	16000-
9	Babul Munnas	50	SAS	Each	26250-
10		5	200	Kg	100e -
11	Sheesham rope Bahan Panjars	100	175	Each	17500-
12	Un skilled labour	40	350	Each	14000-
13	B- HIRING OF MACHI	NERY V	VEHICLI	ES	
1	Tractor with Hydraulic trolley with POL for shifting earth i/c carriage	250	1855	P. Trip	462500
2	Tractor with front blade on hire charges with POL	200	1210	P hour	242000-
3	Excavator machine on hire charges with POL	78	3400	P hour	265200-
4	Datsun pickup on hire charges	25	3000	P day	75ce-
	Daniel Prince		0	Total	1300000

witer

(TARIO SAIN ABRO)

Executive Engineer

Rice Canal Division Mehar @ KN Shah

#### NAME OF WORK :-PROCUREMENT OF GOODS/HIRING MACHINERY/ABKALANI MATERIAL ALONG DHAMRAO BRANCH RD 40 TO 80.

	A-ABKALAN	I MATEI	RIAL		
SNO	ITEM	QTY	RATE	PER	AMOUNT
1	Empty Gunny Bags 2 <sup>nd</sup> Bharthi	250	1807	Each	45000
2	Plastic Katta	282	So	Each	14100
3	Bengali Twine	10	350	Kg	3500
4	Munjwan Inferior	10	200	Kg	2000
5	Tuwas Double molded	450	250	Each	112500
6	Date mats 6x4	250	120	Each	30000
7	Reed Patals six 6x4	450	280	Each	126000
8	Manjhadri Panjars 10x12	300	280	Each	84000
9	Bahan Waras	150	350	Each	52500
10	Babul Munnas	150	530	Each	79500
11	Sheesham rope	10	210	Kg	2/00
12	Bahan Panjars	250	180	Each	45000
13	Un skilled labour	40	(400)	Each	16000
	B- HIRING OF MACH	INERY V	EHICLI	ES	
1	Tractor with Hydraulic trolley with POL for shifting earth i/c carriage	366	1850	P. Trip	677/00/-
2	Tractor with front blade on hire charges with POL	535	1220/	P hour	677/00/- 652700/- 875000/- 183000/-
3	Excavator machine on hire charges with POL	250	350/	P Hour	875000/
4	Datsun pickup on hire charges	61	30001	P day	183000/
		HE HUN	1	Total	300000/

(TARIOTH YUSSAIN ABRO)
Executive Engineer
Rice Canal Division Mehar @ KN Shaa

# NAME OF WORK :- PROCUREMENT OF GOODS/HIRING MACHINERY/ABKALANI MATERIAL ALONG DHAMRAO BRANCH RD 80 TO 110

	A-ABKALA	WINT INITALIES	MAL		
SNO	ITEM	QTY	BATE	PER	AMOUNT
1	Empty Gunny Bags 2 <sup>nd</sup> Bharthi	100	170/	Each	17ecct
2	Plastic Katta	110	454	Each	4950/
3	Bengali Twine	5	410+	Kg	2050/
4	Munjwan Inferior	5	190H	Kg	950/
5	Tuwas Double molded	200	2454	Each .	49000
6	Date mats 6x4	100	115/-	Each	11500/
7	Reed Patals six 6x4	100	270/	Each	2700/
8	Manjhadri Panjars 10x12	100	280/	Each	2800cf
9	Bahan Waras	40	320 M	Each	12800/
10	Babul Munnas	50	525/A	Each	262801
11	Sheesham rope	5	200/	Kg	1000/
12	Bahan Panjars	80	175H	Each	14000/
13	Un skilled labour	40	350/	Each	14000/
	B- HIRING OF MAC	CHINERY V	EHICLI	ES	
1	Tractor with Hydraulic trolley with POL for shifting earth i/c carriage	or 200	1850/	P. Trip	370000/
2	Tractor with front blade on hire charges with POL	th 250	1210/	P hour	302500/
3	Excavator machine on hire charges with PO	OL 40	34004	P hour	136000/
4	Datsun pickup on hire charges	61	3000/	P day	183000/
				Total	1200000

Strifo

1

(TARIOUT TOSSAIN ABRO)

Executive Engineer

Rice Canal Division Mehar @ KN Shah

#### NAME OF WORK:-

## PROCUREMENT OF GOODS/HIRING MACHINERY/ABKALANI MATERIAL ALONG RICE CANAL RD 340 TO 365

	A-ABKALANI	MATEI	RIAL		118 118
S NO	ITEM	QTY	RATE	PER	AMOUNT.
1	Empty Gunny Bags 2 <sup>nd</sup> Bharthi	100	1170	Each	17000/2
2	Plastic Katta	115	40	Each	4600/=
3	Bengali Twine	5	300	Kg	1500/-
4	Munjwan Inferior	5	190	Kg	950/2
5	Tuwas Double molded	200	245	Each	49000/-
6	Date mats 6x4	100	115	Each	11500/=
7	Reed Patals six 6x4	200	270	Each	54000/=
8	Manjhadri Panjars 10x12	150	280	Each	42000/=
9	Bahan Waras	50	320	Each	16000/=
10	Babul Munnas	50	525	Each	26250/=
11	Sheesham rope	5	200	Kg	1000/=
12	Bahan Panjars	100	1175	Each	17500/=
13	Un skilled labour	40	356	Each	11/000/-
aire	B- HIRING OF MACHIN	NERY V	/EHICLI	ES	
1	Tractor with Hydraulic trolley with POL for shifting earth i/c carriage	250	[1820]	P. Trip	462500/
2	Tractor with front blade on hire charges with POL	200	1210	P hour	247000=
3	Excavator machine on hire charges with POL	78	13400	P hour	265200/
4	Datsun pickup on hire charges	25	(3000)	P day	75000/=
				Total	130000

Cergos

(TARIO USSAIN ABRO)

Executive Engineer

Rice Canal Daysion Mehar @ KN Shah

NAME OF WORK:-

#### PROCUREMENT OF GOODS/HIRING MACHINERY/ABKALANI MATERIAL ALONG RICE CANAL RD 365 TO 390

	A-ABKALANI	MATER	RIAL		
SNO	ITEM	QTY	RATE	PER	AMOUNT
1	Empty Gunny Bags 2 <sup>nd</sup> Bharthi	100	1170/=	Each	170cox
2	Plastic Katta	115	40/-	Each	46001
3	Bengali Twine	5	3=x	Kg	1500/-
4	Munjwan Inferior	5	190/	Kg	95c/
5	Tuwas Double molded	200	2-45/	Each	4900/
6	Date mats 6x4	100	115/-	Each	11500/2
7	Reed Patals six 6x4	200	270/	Each	5400/-
8	Manjhadri Panjars 10x12	150	280/-	Each	4200ch
9	Bahan Waras	50	320/-	Each	1600/-
10	Babul Munnas	50	525A	Each	36.254
11	Sheesham rope	5	2001	Kg	100%
12	Bahan Panjars	100	1754	Each	17500/
13	Un skilled labour	40	350/2	Each	14000/-
	B- HIRING OF MACHI	VERY V	EHICLI	es 5	255300
1	Tractor with Hydraulic trolley with POL for shifting earth i/c carriage	250	1850	P. Trip	462500/
2	Tractor with front blade on hire charges with POL	200	12/01	P hour	24200/
3	Excavator machine on hire charges with POL	78	34004	P hour	265204
4	Datsun pickup on hire charges	25	Beeof	P day	750001
				Total	13e 0000/

Athurs.

(TARIOUS VUSSA!N ABRO)

Executive Engineer

Rice Canal Division Mekar @ KN Shah

- LUINIA -

### SCHEDULE "B"

NAME OF WORK :- PROCUREMENT OF GOODS/HIRING MACHINERY/ABKALANI MATERIAL ALONG MEHAR BRANCH RD 40 TO 60

	A-ABKALANI	MATER	RIAL		
NO	ITEM	QTY	RATE	PER	AMOUNT
1	Empty Gunny Bags 2 <sup>nd</sup> Bharthi	125	170	Each	21250
2	Plastic Katta	115	40	Each	4600
3	Bengali Twine	5	300	Kg	1500
4	Munjwan Inferior	10	147	Kg	1470
5	Tuwas Double molded	225	245	Each	55125
6	Date mats 6x4	125	115	Each	11375
7	Reed Patals six 6x4	225	270	Each	60750
8	Manjhadri Panjars 10x12	150	280	Each	42000
9	Bahan Waras	75	320	Each	24000
10	Babul Munnas	75	525	Each	39375
11	Sheesham rope	5	200	Kg	1000
12	Bahan Panjars	125	175	Each	21875
13	Un skilled labour	40	(3So)	Each	14000
	B- HIRING OF MACHIN	VERY V	EHICL	ES	
1	Tractor with Hydraulic trolley with POL for shifting earth i/c carriage	184	1820	P. Trip	340400
2	Tractor with front blade on hire charges with POL	268	1510	P hour	324280
3	Excavator machine on hire charges with POL	135	3400	P hour	459000
4	Datsun pickup on hire charges	61	3000	P day	75000
		A.E. N. N.		Total	1500000/

eyechel Confractor.

(TARIOUN SSAID ABRO)

Executive Engineer

Rice Canal Division Meha: @ KN Shah

NAME OF WORK:-

## PROCUREMENT OF GOODS/HIRING MACHINERY/ABKALANI MATERIAL ALONG FP BUND RD 285 TO 315

SNO	ITEM	QTY	RATE	PER	AMOUNT
1	Empty Gunny Bags 2 <sup>nd</sup> Bharthi	200	170	Each	34000-
2	Plastic Katta	270	40	Each	10800-
3	Bengali Twine	10	300	Kg	300-
4	Munjwan Inferior	10	190	Kg	1900-
5	Tuwas Double molded	400	245	Each	98000-
6	Date mats 6x4	200	115	Each	23000-
7	Reed Patals six 6x4	400	270	Each	108000-
8	Manjhadri Panjars 10x12	300	280	Each	8400
9	Bahan Waras	100	320	Each	32000-
10	Babul Munnas	100	525	Each	52500-
11	Sheesham rope	10	200	Kg	2000-
12	Bahan Panjars	200	175	Each	35000-
13	Un skilled labour	610	(350)	P day	213500
	B- HIRING OF MACHIN	NERY V	EHICL	ES	
1	Tractor with Hydraulic trolley with POL for shifting earth i/c carriage	200	1850	P. Trip	370,000-
2	Tractor with front blade on hire charges with POL	350	1210	P hour	4 23500-
3	Excavator machine on hire charges with POL	37	3400	P hour	125800-
4	Datsun pickup on hire charges	61	3000	P day	183000-
		MINNS	1	Total	180000/

Dink

(TARIOL AUSSAIN ABRO) Executive Engineer
Rice Canal Division Mehar @ KN Shah

NAME OF WORK :- PROCUREMENT OF GOODS/HIRING MACHINERY/ABKALANI
MATERIAL ALONG FP BUND RD 220 TO 285

	A-ABKALANI	MATER	RIAL		
S NO	ITEM	QTY	RATE	PER	AMOUNT
1	Empty Gunny Bags 2 <sup>nd</sup> Bharthi	250	180	Each	45000-
2	Plastic Katta	282	50	Each	14100-
3	Bengali Twine	10	350	Kg	3500-
4	Munjwan Inferior	10	200	Kg	2000_
5	Tuwas Double molded	450	256	Each	115200-
6	Date mats 6x4	250	120	Each	30000-
7	Reed Patals six 6x4	450	280	Each	126000
8	Manjhadri Panjars 10x12	300	280	Each	84000-
9	Bahan Waras	150	350	Each	52500-
10	Babul Munnas	150	530	Each	79500-
11	Sheesham rope	10	210	Kg	2100-
12	Bahan Panjars	250	180	Each	45000-
13	Un skilled labour	40	(400)	Each	16000-
	B- HIRING OF MACHIN	VERY V	EHICLI	ES	
1	Tractor with Hydraulic trolley with POL for shifting earth i/c carriage	366	1850	P. Trip	677100
2	Tractor with front blade on hire charges with POL	535	1220	P hour	652700
3	Excavator machine on hire charges with POL	250	3500	P Hour	875000.
4	Datsun pickup on hire charges	61	3000	P day	183000-
				Total	30,000

Cut 92

14

(TARIO E VUSSAIN ABRO) Executive Engineer

Rice Canal Division Mehar @ KN Shah

NAME OF WORK :-

# PROCUREMENT OF GOODS/HIRING MACHINERY/ABKALANI MATERIAL ALONG FP BUND RD 315 TO 346

	A-ABKALAN	I MATEI	RIAL		
SNO	ITEM	QTY	RATE	PER	AMOUNT
1	Empty Gunny Bags 2 <sup>nd</sup> Bharthi	200	1170	Each	34000-
2	Plastic Katta	270	40	Each	10800-
3	Bengali Twine	10	300	Kg	3000-
4	Munjwan Inferior	10	190	Kg	1900-
5	Tuwas Double molded	400	245	Each	98000-
6	Date mats 6x4	200	115	Each	23000-
7	Reed Patals six 6x4	400	270	Each	108000-
8	Manjhadri Panjars 10x12	300	280	Each	8400 -
9	Bahan Waras	100	320	Each	32000 -
10	Babul Munnas	100	525	Each	53500 -
11	Sheesham rope	10	200	Kg	2000-
12	Bahan Panjars	200	175	Each	35000-
13	Un skilled labour	610	350	P day	2-13500 -
	B- HIRING OF MACH	INERY V	EHICL	ES	
1	Tractor with Hydraulic trolley with POL for shifting earth i/c carriage	200	1850	P. Trip	37000-
2	Tractor with front blade on hire charges with POL	350	1210	P hour	423500-
3	Excavator machine on hire charges with POL	37	3400	P hour	125800
4	Datsun pickup on hire charges	61	3000)	P day	18300-
				Total	15,00,000

(TARIOUE A SAIN ABRO)
Executive Engineer
Rice Canal Division Mehar @ KN Shah